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Please note that you may see slight differences in font and formatting between this paper and the original. The difference does not impact how the questions should be interpreted

Materials required:
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INSTRUCTIONS 
•   Write your name, in the boxes above. Please write clearly and in capital letters.
•   Use black ink. HB pencil may be used for graphs and diagrams only.
•   Answer all the questions, unless your teacher tells you otherwise.
•   Read each question carefully. Make sure you know what you have to do before starting your answer.
•   Where space is provided below the question, please write your answer there.
•   You may use additional paper, or a specific Answer sheet if one is provided, but you must clearly show the question number(s). 
INFORMATION 
•   The number of marks is given in brackets [ ] at the end of each question or part question.
•   The total number of marks for this paper is 27. 


 
	 
	
	 
	
	

	1.
	Identify two methods for measuring the impact of sports development on performance.
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	2.
	The impact of sports development can be measured in a variety of ways.

The number of medals won at the Olympics is an example of measuring the impact of sports development on performance.

True or false?
[1]
 







	
 
	
	 
	
	

	3.
	Describe the potential physiological impact of physical activity on children/adolescents (11 to 15-years old).
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	4.
	“Ensuring a positive legacy from the Olympic Games for a host city and country is very important for the IOC. This is why I am delighted to see that our British partners have succeeded in maximising the legacy of London 2012 across a number of different areas.”
 
	International Olympic Committee (IOC) President Thomas Bach




Explain five positive impacts on a city following the hosting of a major sporting event such as the Olympic Games.
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	5.
	The Active People survey is one method of collecting data concerning participation rates in sport in the UK.

Describe four advantages of using surveys as a method of measuring participation in physical activity.
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	6.
	In September 2017 the Football Assocation announced a new initiative aimed at developing more female and black, Asian and minority ethnic (BAME) coaches across the country. 
i. Give four specific examples of how the success of the initiative could be measured in the future.
 

 

 

 

 

 

 

[4]
ii. Explain two possible benefits for the Football Association if the initiative is successful.
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	7.
	Chance to Shine is a charity that seeks to expand cricket in schools and local communities. It works in close partnership with all 39 County Cricket Boards and hundreds of local cricket clubs, providing free opportunities for children, adults and families to participate in cricket related activities.

Describe how the success of this initiative could be measured.
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END OF QUESTION PAPER




Mark scheme
The examiner comments shown in the “Guidance” column of the mark scheme are taken from the relevant Examiners’ Report. N.B. Examiners’ comments are not available for all questions. 
 
	Question
	Answer/Indicative content
	Marks
	Guidance

	1
	
	
	1. Benchmarks and quality schemes (e.g. Clubmark)
2. Self-assessment (eg Quest Scheme)
3. External assessment (eg Quest Scheme)
	2
	Accept any relevant example



Examiner’s Comments

This question proved to be the most challenging question on the paper. Learners struggled to understand and provide detailed answers to most parts of the question.

Learners had real difficulty with this question. Answers to this question were in the main often vague and in quite a few instances irrelevant. The question needed very specific answers in relation to the methods of measurement and unfortunately learners were unable to provide this. Moving forward centres need to make sure that learners are taught the specific detail on the specification in relation to the measurable methods of sports development on performance.

	
	
	
	Total
	2
	

	
	
	
	Total
	4
	

	2
	
	
	1. True
	1
	Examiner’s Comments

This question was well answered. Candidates had a good understanding of how the impact of sports development can be measured.

	
	
	
	Total
	1
	

	3
	
	
	1. A reduction in body fat
2. Generation of a healthy body weight/weight loss/manage weight/ reduce obesity
3. Improved bone health/reduce the risk of osteoporosis in later life/strengthen bones
4. Improved cardiovascular health
5. A more efficient metabolism
6. Strengthen joints
7. Improved flexibility / improved movement
8. Improved muscular strength and endurance
9. Reduced risk of various illnesses/health conditions
10. Improved respiratory health
	4
	Synoptic Marks = 4 from Unit 1
Examiner’s Comments

This question was synoptically linked to Unit 1 and appeared very straightforward. However, a substantial numbers of candidates misread the question and answered with the potential psychological impacts of physical activity and so scored no marks. Those candidates who answered the question with the physiologically impacts, scored well and in most instances gave four potential impacts because it was worth 4 marks.

	
	
	
	Total
	4
	

	4
	
	
	 
	1.
	(Facilities)-improvement to facilities/legacy of facilities

	2.
	(Infrastructure) Better infrastructure/transport networks due to investment to make event run well

	3.
	(Participation) Increased participation rates/ opportunities due to the success of the sport/inspiring participation…

	4.
	(Talent pool)…which leads to an increased talent pool due to the success

	5.
	(Success) Continued elite success/win more medals at future events

	6.
	(Pride)Feel good factor in the host city because of positive media coverage or ‘buzz’ created by the event or unity

	7.
	(Economy) Increased revenue for local businesses/area

	8.
	(Tourism) due to extra visitors to the city/PR from the event increases tourism

	9.
	(Regeneration) Regeneration of area (e.g. Stratford) due to new homes/ creation of jobs

	10.
	(Future Bids) If successful, then a better chance to host future events – e.g. use stadia/venues for world champs in future years or club sports finals, etc…



	5
	Accept suitable examples of each.

Examiner’s Comments

The majority of candidates managed to score at least 2 or 3 marks on this question with ‘increased revenue’, ‘increasing tourism’ and ‘regeneration of the area’ the most common answers. However, only some candidates were able to give enough detail in their explanation to access full marks. The question is worth 5 marks so it requires five positive impacts.

Some candidates simply listed five points, the question asks for candidates to explain the positive impacts so moving forwards centres need to make sure that candidates address the command word in their answers in order to access all the marks on this question.

	
	
	
	Total
	5
	

	5
	
	
	1. Relatively easy to administer
2. Time effective/ quick
3. Cost-effective
4. Can be administered remotely via online, mobile devices, mail, email, or telephone.
5. Capable of collecting data from a large number of respondents
6. A survey can be designed for a specific subject/ target group
7. Information can be interpreted (With survey software, advanced statistical techniques can be utilised to analyse survey data to determine validity and reliability)
8. A broad range of data can be collected (e.g. attitudes, opinions, beliefs)
	4
	Examiner’s Comments

Candidates scored quite well on this question. They were in the main able to identify two or three advantages, and typical answers included ‘it is easy to administer, it is cheap and it is quick’. However, the less able candidates often wrote about how surveys are used to show the impact on participation, rather than writing in general terms about why surveys are used as a method of measurement.

	
	
	
	Total
	4
	

	6
	
	
	 
	(i)
	1. More female/BAME coaches enroll/apply/complete FA coaching courses
2. More qualified female/BAME coaches working at local/grass roots level
3. More qualified female/BAME coaches working for the FA or in senior (club) coaching roles
4. More female/BAME applicants for coaching roles with clubs / the FA
5. Greater awareness of coaching opportunities amongst female/BAME population because there are more Role Models
6. Fewer barriers / more opportunities reported by female/BAME population (e.g. through surveys)

















 
	(ii)
	1. Makes coaching pool more diverse/higher quality coaches
2. Could encourage more participation in female/BAME groups/less ethnic inequality
3. which creates a bigger talent pool
4. Could also increase number of supporters in female/BAME groups
5. Positive publicity/recognition/ good for the profile of the FA/FA looks better
6. Helps promotion of future FA events
7. Could increase levels of funding if the initiative is successful and the number of people participating increases
8. Attract sponsorship to other FA events



	4
































2
	Examples need to be suitably specific – e.g. do not accept ‘more female coaches’ for point 1 as too vague.







Examiner’s Comments

The answers to this question were some of the weakest on the exam paper. The majority of learners only scored 1 or 2 marks. Many did not seem to realise that the question was asking for four specific examples of how the success of the Female/BAME initiative could be measured. Many of the examples given were very general and did not relate to female or BAME coaches. Typically candidates wrote about an increase in coaches and participation but did not relate this to the minority groups. If they had done this then they would have been able to access the marks available. As a result they scored no marks because it did not specifically relate to the female/BAME coaches. It is absolutely essential that learners read the question carefully and then apply their knowledge to the question. 

Benefits must be relevant to the scenario (i.e. the initiative & FA) 






Examiner’s Comments

This was the most accessible part of question 3. Learners in the main showed a good understanding of the benefits that this initiative would bring to the F.A. A wide range of answers were given by candidates and many were able to access the maximum two marks. Increased quality of Female/BAME coaches, good publicity and increased funding were the most common answers. Weaker candidates’ answers were not specific enough and stated that the initiative simply increased participation.

	
	
	
	Total
	6
	

	7
	
	
	 
	1
	Participation levels increased/increase in club numbers

	2
	More satisfaction amongst participants

	3
	A positive impact on local priorities/campaigns

	4
	Improved behavior in schools/links to inner city

	5
	Levels of performance increased

	6
	Created opportunities to volunteer

	7
	Creates a greater talent pool of cricketers

	8
	Improved health and so less burden on the NHS

	9
	Greater uptake and demand for facilities



	5
	



Eg reduction in crime rate









Examiner’s Comments

The answers to this question were some of the weakest on the exam paper. The majority of learners only scored 1 or 2 marks. Many did not seem to realise that the question was asking for a detailed description (it was worth 5 marks) about how the success of an initiative such as Chance to Shine could be measured. Learners answers were too brief and they often only wrote about an increase in participation or club numbers or an increase in overall performance. More detail was necessary to access the higher marks and needed to include factors such as a greater usage of facilities and improved health for the participants.

	
	
	
	Total
	5
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